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You have four choices for each uhjective type guestion as A, B, C sod 1. The choice which you think is correet, fill the
ol relevant cirefe in front of that guestion number an gomputerized answer sheel. Use marker or pen to fill the circles.
Nl Cutting or filling twe or niore cirches will pesult in zern marks in that yuestion, Atempt as many [uestinns as grven m
objective type question paper and leanve other civeles blank.
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MATHEMATICS ( Subjective ) Group — 11
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SECTION -

Attempt any E1IGHT parts:
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iv)
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vi)
vii)
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ix)
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Simplify by justitying cach step: &

Findd the multiplicative inverse of the complex number [J;! e 1|
Prove that 7 =z il and only it # is real.

Weite any two proper subsets of the set (a0 alax<2}

Write inverse and contrapositive ol the conditional ¢ — p

Dietine a semi-group,

o . olx+3 Fo Fe A0
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IMA and B are syuare matrices of the same ordoer, then explain why in general (A + BA-13) 2 A* - B2
Define rank of a matrix.

Solve the eqguation; aaxlaxel=0

Discuss the nature of the roots of the equation: s sxal=d0

E A} . T " . . .
When 7+ 207 5 ka® ¢ 3 ds divided by x - 2, the remainder is 1. Find the value o'k,

Attempt any EIGHT parts:
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Define an identity cauation and give is L'Milnplc&
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Write in mixed form; r— e
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Find the sum of 20 terms of the series, whostuth term is 3r +
10 w are positive distinet real numbers, show that G.M belwed x ; less i ALM.
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S0 TR : Ty
s - fi G L2
Find the 1210 term of luinmonic sequence = | &
bl
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Lixpress in lactorial form: -‘ 3 "f]f-'.! t}
}.0;
Prove that 0= 2" ] isfrue foen - 5.0 -6
Using binomial theorem find the value Wiyl plo three decimal plices.

i
Lise binomial series o find (1 .Wruu places of decimals.
Mtempt any NINFE paris:

Convert 547457 into radis
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Prove that 2eos™ =1 [ 25070

Prove that |illl[ I' [i} : ::ln{-jﬁ “ “T -
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Wa, B,y are angles o a trangle ABC then prove that tan (@ + ) + tan y = 0
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1 —cosa a
— =
sinz 2
{vit) Find the period of tan 4x
{viiiy State the law of cosines (any two).
{ix) Al the top of a cliff 80 merers high the angle of depression of a beat is 12% Viow faris the boat from the chif??
{x)  Define angle of elevation,

{vi) Prove that

(xi) Show that sin (2cos™! )= 2x \."I i
(xii) Find sohwtion of equation seex = - 2 which licin [0, 2r |
(xiii} Solve the equation | +cosx =0

[‘ SECTION -—_]F!_m_.-".llempt any THREE questions. Lach question carries 10 marks.

(@)IT( G, % yis a group and a € G, then show that inverse of a 1s unique i .
(W £ . m. nare the pth , gth and rth erms of an AP, Show that p{m )t g = &34 r(f 0

2+ dy+ =3

(a)Sulve the given system ol cquations by Cramer’'srule: 3x - 2y - 12 = |
Sx+v-Jn=2

(byTwo dice are thrown. What is the probability that the sum of the number off

® 03
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them is 4 or 67 & s
{a)Show that the roots of  x* +(mx +¢)* =a® will be equal if L"- u*’@' 03
Nl

(h)Find the term in the expansion of (-24 X —-_}E—l involvi : \ 05
T | ; . x esetBesedt

(@)1 tan € = —= and the terminal anm of the ang 1 quad. Find the value of =———==—-5-> U5
T cxc Bdsee 0

{b)Without using calculator show that cos 2 08

{ayProve that A =4R rcus% ensg;i:ua 03
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(h)Prove that m:s"'?swim%
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